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NEUTRON STARS

Ph.M. Kanarev      kanphil mail.ru
http://kubagro.ru/science/prof.php?kanarev

 The announcement. New knowledge of physchemistry of a microcosm allow to describe more in details the space objects named astrophysicists «Neutron stars» [1].


 According to the Internet information neutron stars – compact objects with mass about 1.4 mass of the Sun, that is – 
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. It is considered, that they are formed at flash supernew, will consist basically of neutrons and have density about 
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. The opportunity of existence of neutron stars was predicted by Soviet physicist L.D.Landau.
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Fig. 1. A single neutron star.
(APOD 981128, F. Walter (SUNY Stony Brook), WFPC2, HST, NASA)

             In a photo (fig. 1), received on the Space telescope of Hubble, one of the nearest single neutron stars is shown. This very weak object in an optical range has been found originally out in a x-ray range by satellite ROSAT. It is the most probable, that it is a young neutron star (more youngly one million years) which is gradually cooled, radiating basically X-rays.


 Initial bases of phischemistry of microcosm have already allowed us to receive model of a neutron with six magnetic poles (fig. 2). [1]

        Mass of rest of a neutron 
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 [1]. If model of a neutron to accept spherical, density of a substance of a neutron 
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it will be close to density of nucleus of atoms 
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 of a neutron star. 
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Fig. 2. The Scheme of model of a neutron

            The six-polar model of a neutron follows from structure of a nucleus of atom of the carbon forming diamond (fig. 3, a) [1]. 

	   

                       а)
	
                           b)


Fig. 3. а) – structure of a nucleus of atom of carbon;

b) Structure of a neutron part of a nucleus of atom of carbon

          As electrons (fig. 4) have no orbital movement, they linearly cooperate with protons (on fig. 3,  - white color) of the nucleus, located on its surface. If to remove protons the structure of a neutron part of a nucleus of atom of carbon will be such (fig. 3, b). 
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Fig. 4. а) the scheme of theoretical model of an electron 

(the part of magnetic forces lines is shown only)


Presence at a neutron of six magnetic poles  results (fig. 2) in formation of ideally symmetric spatial structures - nucleus of atoms of carbon (fig. 3, а) which form diamond - substance with the strongest structure. If a nucleus of atom of carbon (fig. 3, а) there are  neutrons (fig. 3, b) symmetry of a six-polar magnetic field so of a neutron part of a nucleus of atom of carbon promotes connection of such parts and formation from them neutron’s clusters. 

         We shall define volume of one neutron 
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It is considered, that average radius of a neutron star about 
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          The quantity of neutrons in such star, without taking into account factor of their packing, will be equal
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           Let's enter the factor of packing equal, approximately, 0,3. Then the quantity of neutrons in a neutron star will be, approximately, equally 
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It is close to the  
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 received by astrophysicists. The density of a neutron star will be equal 
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            It is close to density of nucleus 
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of atoms and to density of a neutron star 
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, predicted by astrophysicists. They consider, that neutron stars can regenerate in Black holes, which radiuses they expect under formula of Schwarzschild [1]
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where 
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 Suggested, that the neutron star analyzed by us has regenerated in the Black hole. Then, according to the formula (7) of Schwarzschild its radius will decrease and will be equal
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and the density will be equal 
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It on four order is more than density of nucleus of atoms that is a signals to us about display of care in giving to this result of the status authentic. In what our mistake?


Dear Astrophysics! I pay your attention to simplicity of a mistake. The formula (7) of  Schwarzschild which you use for calculation of radius of the Black hole, has no length of a wave of radiation, but you, ignore it more than 100 years. Meanwhile, all parameters including length 
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 of a wave of electromagnetic radiation, as you name it, change in an interval of 24 orders (tab. 1) [1]

Table 1. Ranges of a scale of photon (electromagnetic) radiations

	Ranges
	Length of a wave, m
	Frequency, 
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	2. Radio
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	3. Micro waive
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	4. Relic (max)
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	5. Infra-red
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	6. Light
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	7. Ultra-violet
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	8. X-ray  
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	9. Scale a range
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            Therefore, for calculation of radius of the Black hole it is necessary to enter length of a wave 
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 of radiation into the formula (7). For this purpose it is necessary to divide energy of a photon 
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 Further, equating this force to force of gravitation 
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 let's receive the formula for calculation of gravitational radius 
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 of the Black hole, the taking into account length of a wave 
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 of a photon (fig. 5), which is equal to its radius 
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 (fig. 5) [1]
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 If to take into account structure of a photon (fig. 5) this formula becomes complicated [1]
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Fig. 5. The scheme of ring magnetic fields of a photon

         But size 
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which appears in this formula (14), it is insignificant  small for space scales, therefore it is more convenient to use more simple formula (13). It has appeared more 5 years ago, but astrophysics till now have not noticed it. The formula (13) is important that in Space there are objects which can detain infra-red radiation and radiate all other ranges of radiations (tab. 1). Therefore it is necessary to enter concept the Color hole, instead of Black. The length of a wave of radiation which will be detained with an analyzed neutron star is defined under the formula 
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        It is an infra-red range. The neutron star will detain all photons with lengths of waves (radiuses) more 
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. With smaller length of a wave (tab. 1) such neutron star cannot detain all photons any more. 


 Dear astrophysics why you till now use the formula (7) of Schwarzschild which is unable to define border between lengths of waves of photons which are detained with a gravitational field of the Black hole and which it is not capable to detain? Now we shall see, that in the Universe there are no Black holes which could detain all ranges of radiation (tab. 1) including radiation scale of a range with the minimal length of a wave 
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 [1]. Look, how it is simply proved. 

            The space Black hole invented by you will be those if it will detain scale radiation with the minimal length of a wave 
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. We shall check up your statements that in space there are the neutron Black holes, detaining scale radiation. The formula (7) of Schwarzschild  does not allow us to make it, and the formula (13) of Kanarev gives the precise answer. The neutron black hole will detain scale photons (fig. 5) only in the event that its gravitational radius will be equal
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The neutron hole with radius 10 km, having turned in the Black hole, will detain all range of radiations (tab. 1) only in the event that its radius will decrease up to 
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          It on 12 orders is more than density of nucleus of atoms. Dear  astrophysics, is not present in the Nature of objects with such density. Please, understand it. You mark weak luminosity of neutron stars and power of x-ray radiation, but do not explain the reason of it. All this information is brought with the photons having one and the same harder magnetic structure (fig. 5), which all parameters including the length of a wave 
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 of a photon 
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, change in an interval, approximately,  15 orders. They bear also the information on power of x-ray radiation of neutron stars. X-ray photons (fig. 5) are born protons (fig. 6) during their connection with neutrons (fig. 2) at formation of nucleus of atoms. Protons, arrive to a neutron star from a space. However, more powerful should be scale radiation, but complexities of registration of this radiation yet have not allowed to receive such information.
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Fig. 6. Model of a proton

(the part of magnetic force lines is shown only)

            As scale photons (fig. 5) and x-ray photons (fig. 5) are radiated at synthesis of nucleus of atoms, these process is the main sources of x-ray radiation (fig. 3, а) [1]. 


 Presence of nucleus of atoms at which protons allocated on surface of nuclear, automatically involves electrons from space (fig. 4), which, incorporating to protons of nucleus (fig. 3, a and 6) of atoms and this process is accompanied by radiation of ultra-violet, light and infra-red photons (fig. 5, tab. 1). Power of these radiations defines age of a neutron star. The more length of a wave of these radiations, the older a star. 


 Certainly, it is interesting to know process of the beginning of formation of a neutron star. It is considered, that the neutron star is born at explosion of a supernew star. Power of its explosion gives the basis suggest, that as a result of it nucleus and atoms of all chemical elements existing in a star before explosion collapse. So, in the plasma formed at it, protons, neutrons and electrons appear in a free condition. Processes of rapprochement of electrons to protons which can come to an end formation of new neutrons or atoms of hydrogen further begin. What from these processes has a high probability for realization? Process of formation of neutrons because two participate of forces directed in one side by its realization  has the greatest probability: coulomb’s forces and different poles of magnetic forces, rapprochement a proton with an electron and resulting  capture by a proton (fig. 6) of electron (fig. 4). Process of formation of atoms of hydrogen (fig. 7). In this case is less steady, as it operate, as far as there are different direction  forces. Coulomb’s forces pull together a proton with an electron, and their same magnetic poles limit this rapprochement [1]. 
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Fig. 7. The scheme of model of atom of hydrogen: 
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- an electron, 
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 - a proton


 As magnetic fields of proton (fig. 6), and of electron (fig. 4) have the greatest intensity along their axes of rotation [1]:
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 so at rapprochement of the electron and a proton will rotate coaxially. If their opposite magnetic poles will be directed towards each other will pull together an electron with a proton both electric, and magnetic forces and a proton will be swallowed up with an electron.  

         It is known, that mass of rest of an electron 
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 mass of an electron [1].   

      So in other to the proton became a neutron, it should grasp 2.531 electrons. As the integer of electrons is absorbed only there is a question: where the rest of mass 
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 of an electron disappears? The modern physics of this process explains the broken balance of mass simply: a birth neutrino, but we count, that of the formed rest of mass is formed nothing. Not having an opportunity to be issued in any particle, it is dissolved and etherifies – a substance of which all elementary particles are formed [1],  [2].

           When at rapprochement of an electron with a proton their same magnetic poles  and coulomb’s forces working not along an axis of rapprochement, but it is normal to steroidal surfaces of an electron and a proton towards will be each other directed, will pull together them, and magnetic - to push away. Between these forces balance will be established, and the structure formed thus will be atom of hydrogen (fig. 7) [1].

          The Nature has made an electron and a proton such, that they have the electric fields close under the form to spherical fields, and the magnetic fields similar to magnetic fields of a rod magnet. The electron is pull with a nucleus of atom by forces of their heteronym electric fields, and limit this rapprochement of force of their same magnetic poles. The electron (fig. 4) has hollow torus and a proton (fig. 6) – continuous. At an electron vectors of spin 
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 and the magnetic moment 
[image: image88.wmf]e
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 coincide, and at a proton are opposite [1].

The conclusion


 More than 100 years of astrophysics convince mankind, that they open Black holes, and the Nobel committee awards them for such opening. It was not found any the astrophysics, capable to understand, that detaining ability of a gravitational field of the Black hole depends on length of a wave of radiation. But formula of Schwarzschild, using which they expect gravitational radius of the Black hole, does not contain length of a wave of its radiations. In result the mistake in definition of radius of a neutron Black hole reaches 6 orders (8 and 16), and its density of-12 orders (17).  


 Astrophysics persistently do not wish to study the Internet information on the new astrophysical knowledge following from results of their tool supervision, but received by scientists far from astrophysics.
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